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=> With(PIOtS) .
(1) s(0) =Pi/2,s'(0) =0 DFH
Pi

> dsolve( {diff(s(t), t,t) =-sin(s(t)),s(0) = BE D(s)(0) =0}, numeric, output
= listprocedure)

t=proc(t) ... end proc, s(¢) =proc(¢) ... end proc, (ciit s(t) =proc(t) ... end proc

_> odeplot( %, [sin(s(t)),-cos(s(?)) ], £=0..30, style =point, frames =100, scaling
= constrained)

0.51
sin(s)

-cos(s)

-1

:(2) s(0)=0,s'(0)=1.8 DHE A
> dsolve( {diff (s(t),t,t) =-sin(s(t)),s(0) =0,D(s) (0) =1.8}, numeric, output

= listprocedure)
t=proc(t) ... end proc, s(¢) =proc(¢) ... end proc, c?t s(t) =proc(t) ... end proc
_> odeplot( %, [sin(s(t)),-cos(s(?)) ], t=0..30, style = point, frames =100, scaling

= constrained)

0.6

041051
04 02

:(3) s(0)=0,s'(0)=2.2 DHEE
> dsolve( {diff (s(), &, ) =-sin(s()), 5(0) =0, D(s) (0) = 2.2}, numeric, output
= listprocedure)

t=proc(t) ... end proc, s(¢) =proc(¢) ... end proc, c?t s(t) =proc(t) ... end proc

_> odeplot( %, [sin(s(t)),-cos(s(?)) ], t=0..30, style = point, frames =100, scaling
= constrained)
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